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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

¢

09 NOV 2022

07:30 PM to 09:30 PM

08:00 AM to 10:00 AM

( SSC ONLINE LIVE CLASS

BILINGUAL

BANK ONLINE LIVE CLASS

g

16 NOV 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

‘ SSC ONLINE LIVE CLASS

BILINGUAL

L

November 2022

23 NOV 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777



: - Vandana Chhatri 8 hours age
Euiﬁa; . Option (2) U= Indigo, 5=Blue, Q=purple, R=Yellow, T=0range, P= Red
5= BLUE / |]f_,L- 'L,-_{,:[I Reply s
Q= PURPLE /

Garima Rathore 11 hours ago 1 subscribers

R = YELLOW
T = ORANGE Homework answer
P =RED Option {b) U
ANSWER = OPTION 2 (L) INDIGO. U /
Show less BUE. 5
PURPLE. Q
05 &H  Reply &= YELLOW. R
ORANGE T
Sanjana Agrawal 5 hours ago 2 subscribe RED. P
U indigo thamk you sir for nice session

S blue / Show less
Q purple i G0 Reply &

R yellow

T orange rs_‘ Abhick 11 hours ago 74 subscribers /

P red k. 4¥ Reasoning H/w -

Show less U Indige, S Blue , @ Purple , R Yellow , T Orange , P Red

iy SH  Reply B iy &0 Reply &=




Lucky Dey & hours age

U - Indigo { Top most) - Hw answer.
5 Blue

- Purple

R-Yellow

T Orange

P- Red

Show less /
u'..._:l_' 'I--I____.-I:I R ep |'|I E

Meha Singh & hours age
Indigo U

Blue 3

Purple O

Yellow R

Orange T

Red P

Show less

[I_L ';U Reply




Six boxes labelled as P, Q, R, S, T, U were kept in the

form of a stack (vertical arrangement) but not

(-

necessarily in the same order. Each of the boxes 1s
painted 1n a different colour. The colours of the boxes
were orange, yellow, purple, indigo, red and blue but
not necessarily in the same order. There are two
boxes between S and T. S 1s immediately below the
indigo box. There are two boxes between the red and
purple boxes. P is kept immediately below the orange
box. The colour of box Q is not red and Yellow. T is
not placed above S. Only blue box 1s kept between Q
and the indigo box. The yellow box 1s kept third from
the bottom of the stack. The yellow box 1s kept below
U.

Which of the following boxes is placed at the top of
the stack?

1.Q 2.U 3.S 4.T 5.P

P,Q,R,S, T, U &Y I A fhU 7T BT
S Ueh Toh (SHEATER &) o ®9 H T U
o Aferd STt Tl Toh 3t shH | 81| Tk Si1o
Sl Weh AT T 0 FafEra fomam wam B st & @
i, e, s, e, et 3T i o AferA
ST Tl R ST P A &l S IR T H Hea
fesa 31 S, It o fesdt o Sk = 31 ATt 31T
STt ST o i 2 fgodl 81 P bl A1 fesa o
3teh < T@T 7T & Tesar Q &1 U1 et 31
fier T R1 T o1 S 3 FI A= W =T Rl Q
3T 3fem siea o sfi=r haet T s @
T ) Wit fessl o1 & o i O e S99 0T
T@T AT 2| AT s U o STl T T 8




Six boxes labelled as P, Q, R, S, T, U were kept in the

form of a stack (vertical arrangement) but not

[~

necessarily in the same order. Each of the boxes 1s T

U mdigo

painted 1n a different colour. The colours of the boxes

were orange, yellow, purple, indigo, red and blue but S Blun
not necessarily in the same order. There are two F M\MQ
boxes between S and T. S is immediately below the &

indigo box. There are two boxes between the red and j R e / ( 0 L5

purple boxes. P is kept immediately below the orange
box. The colour of box Q is not red and Yellow. T is T OW%
not placed above S. Only blue box 1s kept between Q }7 Rul\

and the indigo box. The yellow box is kept third from. ()

U.

Which of the following boxes is placed at the top of
the stack? l
1.Q 2.U 3.S 4.T 5.P

the bottom of the stack. The yellow box is kept below (




Alphabetical Series

Chinese Coding — Decoding
Inequality Cp /Z)

Syllogism a few)
Blood Relation Based Puzzle

Distance and Direction Based Puzzle
Linear based Sitting :A/rl:an’gement
Uncertain Person basedLin/ear based Seating Arrangement

Parallel Row based Lil_lgaf Seating Arrangement
Box Based Puzzle -

Floor Based Puzzle/

Day and month based Puzzje/



\ WRY MUG GYM ARE ROE
a 2 A N
If all the words are arranged in dictionary order from left to right, then how

many words remain unchanged in their position?

gfe Teft yTaT Rl ATE A 7T ITegeh 9T ShA W A Rd fema STy, A feha visg aTat
feorfa o sraftafda wa €2

A.One _—

B. Two

C.Three

D.More than three
E.None



ST STRTT ShT 9165 oh WA AUITHShA H ST TohaT SITT Al 39
- TAYUT BRI

|
A.Three Dindd
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gWT@JLOCBUMKIEOMASHGDILJO

If the first 14 alphabets are arranged in reverse order, then which of the

following alphabet is 15™ from the right end?

Ife ggel 14 78R I Iee vl W TRy foraT wiTar 2, ot feforRaa & ¥ i ot
AR I BRI 1597 32

A.L at
B.O

C.F

D.T

EW



BAG CUB DRY JET NEW

If the first and last letters of each word are interchanged then the last and

second letters interchanged their position, then how many words end with

——

vowels?

I Tk ITe8 oF UgeT TR AT 7RI hl MU U It @7 SATaT @ av 3ifaw 3
TEX AL T ATIH § T faT 14T 2, A foha 9168 Tl o Aol {HTH Bid 52

i @
A.None Q A G
B.One T a
p B
C.Two C 4 e
D.Three 5 (O @__/_)‘__
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.E‘ ¢ 99 3
In the word “DUTIFUL”, how many pair of letters has as many

letters in between as they have in between them in English alphabet

series?

9158 "DUTIFUL" ¥, IS SUTHTAT HET | &R & Tehaq
SIS o sfter o 3 g 318 2 RN 3eh sfier 1 22

N\ (@

A. None D () T L U L
al YEFTIFU BN
C. 2

D. 3 S
E. None of these



Statement: M202L2T
-

Conclusions: 1. D=2 0O

N
=E2D
.M 2E
X - 0

(1) If only conclusion I Is true.

(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.




( <7
Statement: B < C =D s X=sY</Z
__J

_

Conclusions: |. B y I}é <C o

(1) If only conclusion I Is true.

(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.




( N
Statement:SSPSA=R>ESP

Conclusions: |. A > D)< ><|. S<E e

(1) If only conclusion I Is true.

(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.




Statement: L<K<J2U;R2T21

Conclusions: |. T > L . Il. U < R/ U a

(1) If only conclusion I Is true. Lgﬁ; <TER
(2) If only conclusion Il is true. [_ -
(3) If either conclusion | or Il is true. =

(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.




Statements:

Only a few mails are gmail.
Some gmail are google.
Conclusion

Some mail are google .

No google is mail .

heg-:

hId HS U S(HA 2
[a VBN ¢

e S TTeT 2

O (o

TSR -




Statements:

Only a few mails are gmail.
Some gmail are google.
Conclusion

Some mail are google . >(
. o

No google is mail .




Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.

hY-:

off ek aS ©.

ofi TS WU =,
hacl e Tl T T
Ry

ol sl o€ 2

S Toh W 8,




Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird. X /
Some Duck are Sparrow.

@8 S



Statements:

Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma. @
Conclusions: .
Some Swati can be Vani.

All Manali being Vani is a
possibility.

hY-:

hId S T HATC o

had S A

H‘JﬁGITUﬁﬁ'JT

TSRy

S

g

7o} 2|

% T vt & Fhelt o

gt g7 o6 I B9 Shl ST

2l



Statements:

Only a few Swati are Manali.

Qllly a Few Manali are VanL

All Vani are Roma.

Conclusions:
Some Swati can be Vani. /

All Manali being Vani is a possibility. )&



Statements:
Only Rama is a clerk.

100% honest are Rama.

Conclusions:
I. All Rama are honest.

I1. All clerks being honest is a
possibility.

<h .

At

FIA TH TR FAHR 2|
| $00% THTER B

[EL=0cF

gt TH TATFER 2

&

eh oh SATER &I hi THTSAT 2



Statements:

Only Rama is a clerk. K
100% honest are Rama. ama

Conclusions:
I. All Rama are honest. )(
I1. All clerks being honest is a possibility. X



Statements :

A few figures are images.

0% snaps are images.
—
Conclusions :
I. Some figures are not snaps.

I1. All images being snaps is a
possibility.

hdd: _
%Y R 30 B ,
0% &9 A 2 ~

freend:
% R a7 )
QT SUST o T Bl hi TATIT 2l




Statements :
A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps. /
I1. All images being snaps is a possibility.><

(b
S



meggs . re@@vsd . ap_(_)lqu is written as SD , 9C , 15G
head , headed , hooKk is written as SD , 5D , 15H

What is code for ¥banana” < foeTu ST shig =T BRTT?

1 1A Vo — @ J \/OWJQ
(2) IN m‘al\aéé aﬁ
(3)-3M—

4 1B
(5) -None of these

Cor-



@meggs , received , apology is written as SD , 9C , 15G
head , headed , hooKk is written as 5D, 5D, 15H

J
What is code for ‘w o ToTu Ewtiera shig T g2

1) 1L
2) 1A
3) 3M
4) 10E

(5) None of thgge/




Q. In a family of seven people A, B, C, D, F, J and KG) is sister of aand
only daughter of B, who is spouse of A. B is Grandmother of J & K,

whose mother is F. A has only 2 children .

T T o URAR W A, B, C, D, F, J 3R K ¥ | D, C &t o1& 3R B &
THFAHA TN TN A F UA/AAT 2, B, J T KR St e RARTIATFE 1 A
FAA 2 T B

Q. Who is the sister of C ? @
CHRHTTGARITE ?

(A) K (B) F @
(C)B (E/Ngne ofthdse




\
P Point P is 18m north of point Q. Point S is Sm east of point Q. Point Z is west of

15m of point J. Point J is Sm west of point Q. Point N is 7m south of point Z. Point
S is 7m north of point W. Point P is 3m east of point T .

fag p, g Q w 1sHt s a2 feig 8, g Q w st ya w21 g Z, fag g & 15+t =%
ufzrm # 1 g g, g Q w st ufzm a2 fig w s s fag p, g T 3t ga 7 2,

What is the shortest distance between N and W? 7 __—;O

N 3R W ok Teq = i T 22 .

(2) 20m . .

(b)15m 2e— J——0 —5— 3
(¢) 10m -
(d)5m / /




\
Point P is 18m north of point Q. Point S is Sm east of point Q. Point Z is west of
15m of point J. Point J is Sm west of point Q. Point N is 7m south of point Z.

Point S is 7m north of point W. Point P is 3m east of point T .

fagp, fig Q& 1sM s a R fig s, g Q % st ya w1 feig 7, Teig J & 15+t =%
aigm U 2| {eig J, foig Q o 56t iz 4 21 foig W sh st 4 faig P, feig T ok 3dT g &t
g

Point Z is in which direction with respect to S?

fag Z, s % wev 7 form oo W 22

(a) North-East £
(b) North-west .
(c) East

(d) South
(e) None of these /



F
Eleven friends 1, 2, 3, 4,5, 6,7, 8,9, 10 and 11 are sitting in a row and everyone is facing
towards North but not necessarily in the same order.

8 and 9 are sitting at extreme ends. 6 is second to the left of 8. 11 is exactly in the middle of the

row. 7 is fourth to the left of 11. 3 and 5 are not the neighbor of . 2 is in between of 3 and 5.

is not the neighbor of 6 and 8.

e 8 1,2,3,4,5,6,7, 8,9, 10 37 11 Uk Uitk § 33 T 3R T HIS 3T AT 3R 3@ W@ & AfhT
& T foh TElt e | 2N

8 3T 9 T &1 B U IS B) 6, 8 < I T 1 11 Ufew # ek Sfter W 21 7, 11 3 91wt 81 3 e
5, 6 < TS TE 2l 2, 3RS HATTE L, 6 3T 8 hT USTET T2 21

\ﬂlo is immediate to the left of 2?
2 o A ST i 82
)s @)3

—

(3) Either 5 or 3 @) 11(5) 1




|
Eleven friends 1, 2,3, 4,5,6, 7, 8,9, 10 and 11 are sitting in a row and everyone is
facing towards North but not necessarily in the same order.

8 and 9 are sitting at extreme ends. 6 is second to the left of 8. 11 is exactly in the
middle of the row. 7 is fourth to the left of 11. 3 and 5 are not the neighbor of 6. 2 is
in between of 3 and 5. 1 is not the neighbor of 6 and 8.

/5\ 3/5 e

Cﬂ’\gq1®ﬂ_ ¢ g

3/5 < O
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Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row@ faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who facesE

ATS S T<h & THHTAR Uikl H Tcdeh Uitk | = AN shl 39 Yoh 813 B foh STTHT IRl o s
HA gt 81 Ufth-1 4 A, B, C 3 D o3 € (<ifeh SRl T foh 3l ohm H 21 ST 37 &l ol 7@ It
$I ST I URB-2 W E, F, GﬁtHé%’%(@i@h«l &) dsﬁ‘ﬁhsﬁwﬁs\i)aﬁtwmﬁ?ﬂwﬁw
ol AN 2| FHIY, 2T 778 SIS shl SFET H Teh Ufth H oIS Tcdeh Y& hl 7@ a’aﬁqﬁﬁ%ﬁmﬁm
HEE o S 2| D ol 90 I it ol SR & ST E o o1 U g0 T W e 6= TG Al AR
TEi 2, ST D <Rt HehedH tl?h?ﬁ%l G 3T H o &7 Ush Afth SaT2 B 3U ARE ¥ 3% Eﬁé‘cﬂ%

ST 7@ E 3 3T 2




Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row. D faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.

© .
o QTP ne :
f\

[~

— U 1

|
t
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A certain number of persons are sitting in a row facing to the north. M sits 4th to
the right G. There is one person sits between D and G. Three persons sit between
M and P. The number of persons sit between D and M is same as the number of
persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to
the left of T and sits to the right of A. Six persons sit between A and Q. Both T and
K are immediate neighbours of each other. S sits 3rd to the left of K. The number
of persons sit to the right of K is same as the number of persons sit to the left of D.

e T G o S fth ST shl ST T ek U Uitk H oS &1 M, G 3 a1 § =1 ©IH |
3T 2l D 3T G o = Uk s T<h 93T 81 M 3T P o i< i< 3Ttk 81 21 D IR M & s
SI3 AT AR shl AT 31 &t © ST foh P o 215 3T S8 ARl shl ST shadd A 3R
G % o9 U Ik 931 21 Q, T o oIT¢ & 1Y T U S3dT & T A o 218 T J3dT 2l A
3T Q o i<l D 4fth sI3d &l T 3K ST Tk oL o fehedd TgiE 81 S, K o &1 ¥ e

N O

LT T 3T 2l K o et 37 S8 afhdl bt Gt 3a+1 & & S f6 D & 9 s =afhdt &)
G| .
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A certain number of persons are sitting in a row facing to the north. M sits 4th to
the right G. There is one person sits between D and G. Three persons sit between
M and P. The number of persons sit between D and M is same as the number of
persons sit to the right of P. Only one person sits between A and G.@sits 3rd to
the left of T and sits to the right of A. Six persons sit between A and Q. Both T and
K are immediate neighbours of each other. S sits 3rd to the left of K. The number
of persons sit to the right of K is same as the number of persons sit to the left of D.

onT
_ "/

y P aitim 1L PR SITK A0
SRS
)&ﬂ\C"D‘MQHP\ .




Eight persons namely - Pappu, Karan, Rashmi,

Suraj, Teena, Urmila, Vinod and Aniket live

on separate floors of an eight-floor building in
Tuls1 apartment, chaarbagh - Lucknow.
Ground floor 1s number 1; first floor is
numbered 2 and so on until the topmost floor

which 1s numbered K.

Only two people live between Pappu and
Karan. Vinod lives immediately above Suraj.
Teena lives immediately above Rashmi. Teena
lives above Aniket. Urmila lives on an odd-
numbered floor. Only one person lives
between Teena and Aniket. Pappu lives on the
floor numbered five. Karan lives above

Pappu.

HTS Sh - IO, 0T, TRH, L, 2T,
3fvie, forte SR 3fend qoTdll STUTEHE,
TSN - AGS: H TS HiSTAT SHRA hl
ITAT-SAAT HiSTAT T & Bl AP FAR

G 1 2; US| HISTeT shl €8T 2 © 3T 36
TEhT FeTE HUR ol HISTCT shl €T 8 &l T
3T T o S shat &f <k &d =l o
gLl o 3leh HU T 8| SHT, A o 3Tk
U T&dT &1 THT Afohd o HUT T&dl 2l
3T uer T ST et Gt 9T wdt
21 ST 37 37fehd o sfi=r Shael Teh Afh
AT & U0 Ti=elt HISTe R T&dT =l 0T

qoq < 30T L& o




—_————

Eight persons namely - Pappu, Karan, Rashmi,

Suraj, Teena, Urmila, Vinod and Aniket live

on separate floors of an eight-floor builciing in
Tuls1 apartment, chaarbagh - Lucknow.
Ground floor 1s number 1; first floor is
numbered 2 and so on until the topmost floor

which 1s numbered K.

Only two people live between Pappu and
Karan. Vinod lives immediately above Sura;.

Teena lives immediately above Rashmi. Teena

lives above Aniket. Urmila lives on an odd-

—

—

numbered floor. Only one person lives

between Teena and Aniket. Pappu lives on th
—

floor numbered five. Karan lives above
\ R /’___’-——"'—_\

Pappu.

— | R | N[ e

C D=l P »| R




|
Eight persons A, B, C, D, E, F, G and H are

working in a company and have different

salaries. (But not necessarily in the same

order). No two persons' salary is same.

B's salary is fourth lowest but greater than that
of D. C's salary 1s more than only one person.
Salary of D 1s not the lowest in the company.
Salary of E is second highest in the company.
Salary of F 1s greater than H but not highest in
the company. Salary of G 1s neither the
highest nor the lowest in the company. Salary
of G 1s lies between E and F.

IS AR A, B, C,D,E,F,GIANHTH
YT T I L T2 & ST 3ohT oa STl-
ITAT B (AfehT STt 72t fob geft smm o &)
foreft Y 31 safera sk ara @ T2 31 B
T T 1T G A © TfehT D § A4
21 C T I shal Ueh ATk U ATk =1 D
ST I ST H e oA g1 =1 E T
U1 H GO T T 2| F o1 9T H &
31fereR @ R Shu-T § Hol ATk T2 Bl
G T I ST | 7 a1 Go ATk 8 3R
T & TeY FH gl G T Ja E AR F & o=
o




h
Eight persons A, B, C, D, E, F, G and H are

working in a company and have different
salaries. (But not necessarily in the same

order). No two persons' salary is same.

B's salary is fourth lowest but greater than that
of D. C's salary is more than;nly one person.
Salary of D 1s not the lowest in the company.
Salary of E is second highest in the company.
Salary of F 1s greater than H but not highest in
the company. Salary of G 1s neither the
highest nor the lowest in the company. Salary
of G is lies between E and F.
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Six boxes are placed one above another and they all
are 7, Y, X, W, V and U but not necessarily in the

same order. All the boxes are having different number
of chocolates in the range @

There are only two boxes kept above the Z box. Only
one box is kept between the Z box, which contains
maximum even-number chocolates but less than 15
and the box containing 12 chocolates which is placed
at top. The X box, which contains 21 chocolates, is
kept immediately above the V box. The difference
between the number of chocolates in the Z and V box
1s 5 and there are one box between them. There are
two boxes kept between the box Y and the box X. Box
Y is kept at one of the places above box W which is
not placed at bottom. Box U and W has odd number of

chocolates above 30 with a difference of 8. W has

more chocolates than U .

BE [Sod Toh h W UH W MU & IIRT Tt Z, Y,
X, W, V 3R U 8 dfer siedt =21 for 3eft shm & 2
aft SFET § 11 T 40 hl 7 H ATT-3TAT &1 1
Hiehele 8l Z Tess o S0 hadl 2 o T MU | Z
S, foraw stfrendd gu-geT arcdt Siehaie 2,
Aferd 15 9 - © 3T S dfeg 7 12 Siehcie 8, S

o9 T T T-T §, o Sl chalcd Ueh si1ehd TET T
21 X S, fSed 21 Sieheie 8, V 199 o 3o S0
TET TR 8l Z 3RV 1o | =iehele shl ST &
s 7 AT 5 @ 3R 3 o9 Teh S92 S Y
I T X o i ) i W 7T | S Y )
ST W ah HUT TorH] Teh T 9 W7 TR=IT @ S A1
& @ T B dtee U TR W H 8 o 3TaT o |y

30 4 S faug G H Aihoic 2l WH T U @
3Afereh diehoie 2
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Six boxes are placed one above another and they all

are 7, Y, X, W, V and U but not necessarily in the | N / 7
same order. All the boxes are having different number

of chocolates in the range of 11 to 40. L W/ 34
There are only two boxes kept above the Z box. Only 3 — | v
one box is kept between the Z box, which contains

maximum even-number chocolates but less than li \1 X <!
and the box containing 12 chocolates which 1s placed S \/ g / |9
at top. The X box, which contains 21 chocolates, is —_—
kept immediately above the V box. The difference ( U 3 /

between the number of chocolates in the Z and V box

1s 5 and there are one box between them. There are

two boxes kept between the box Y and the box X. Box )( Q ] | 3 |
Y is kept at one of the places above box W which is —
not placed at bottom. Box U and W has odd number of

chocolates above 30 with a difference of 8. W has

more chocolates than U .
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There are eight persons A, B, C, D, E, F, G and H

living on an eight-floor building (Ground floor is
numbered 1 and topmost floor 1s number 8.) but not

necessary in the same order.

B lives on even numbered floor above fourth floor.
One person lives between B and F. G lives on odd
numbered floor and there are two persons live
between G and F. B lives above F. G does not live on
floor number 1. Only one person live between G and
A. D lives on even numbered floor above G. Only one
person live between D and E. C lives somewhere
above H. E does not live on lowermost floor and lives
above A. H lives on odd numbered floor above floor

number 3.

IS ARR A, B, C, D, E, F, G 3 H & 313
HISTeT oAl SHRT T T&d & (Wl oh §AT 1 @ 3R
oy S ATt Y AT § B)) ek sEHI A I
T T8 21 B =heft #ivrer o St aw g
Tt AT X T&aT 2l B 37X F ok s Ueh A<k
&1 2l G foum g ared! #iee W @ar 8 3R
G 3T F o i< 31 1<k &d 81 B, F o 39T &l
2l G 0N 6T | Wi ATl G 3 A &
sfi=r el Uah AT WwdT =l D, G & U 99
G AT Hislel W &dT =1 D 3R E & &9
had Uah SAT<h T 2l C, H % &9 el T 2l
E o foerett dfsier w7t ar ? 3t A & S
BT 8l H 6Tl §8&AT 3 o S0 forwy Hem o
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There are eight persons A, B, C, D, E, F, G and H

living on an eight-floor building (Ground floor 1s
numbered 1 and topmost floor 1s number 8.) but not

necessary in the same order.

B lives on even numbered floor above fourth floor.
One person lives between B and F. G lives on odd
numbered floor and there are two persons live
between G and F. B lives above F. G does not live on
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Seven persons - I, J, K, L, M, N, and O have their
birthdays in different months - January, March, April,
June, July, September, and December, but not

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday
month is after I’s birthday month. N’s birthday falls in
month having 31 days. J’s birthday month comes after
N’s birthday month. L has birthday in a month having
30 days. K has birthday in a month having 31 days but
not in July and March. M’s birthday fall in a month
having 30 days but before September. O’s birthday
month is not after J’s birthday month. J’s Birthday is
not in December. M birthday falls before O but not in
the month of June. Only three persons have birthday
between N and L.

qrd ARl - 1, J, K, L, M, N, 3T O & Sfed
HATT-F HEMT - SR, AT, 3IA, SH, ST,
forde 3R fedeR | €, oiford STt =1 foh et ol
T 8| 90 ST 31 feqt aret ol B uear 81 J
STfE WEHT 1 o STFATGH o HEH & o716 &l N &l
STfe 31 fedt arel He i | ST1ar 71 J ot ST
TEMT N o STG o Ha [ o &8 ATl gl L 3T
SFATEA 30 AT aTet 7eH § 81 K 31 Stted 31
ot Aot AEH 1 & ifore S[aTs SR AT H &
M T S feT 30 Tt aret Sifer forder & e
Tt T | SATAT 81 O a1 TG HEHT J %
SIS o AR o &€ &l gl J T Stafed qdeX §
T 81 M T SFHTG O & T8 AT & e S
e | A2l N 31 L o ofi< shaed i saf<mail a1
ST B
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Seven persons - 1, J, K, L, M, N, and O have their
birthdays in different months - January, March, April,
June, July, September, and December, but not

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday
month is after I’s birthday month. N’s birthday falls in
month having 31 days. J’s birthday month comes after
N’s birthday month. L has birthday in a month having
30 days. K has birthday in a month having 31 days but
not in July and March. M’s birthday fall in a month
having 30 days but before September. O’s birthday
month is not after J’s birthday month. J’s Birthday is
not in December. M birthday falls before O but not in
the month of June. Only three persons have birthday
between N and L.
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10 people A,B,C,D,E,P,Q,R, S, and T sit

on two linear benches such that five people
face south and other five face north and they
face each other too but not necessarily in same

order given above.

D sits 1n the middle of one of the row. B sits
opposite to the one who sits in the middle of A
and C. Two people sit between A and P. B is
to the immediate left of D. E, who faces S, sits
at farthest possible distance on the bench from

R. A faces south. P and T face each other.

10k A, B,C,D,E,P,Q,R, S, AR Tal
g =T T 3H TR o3 B Toh I Afh
F&T0T <Al ST 3@ & ST 3= Ui I
AR I & Ao +ft Toh-g 1 AR 3@ &
AR ST&t A2 foh Tt v | 1 39T feam =
21 D fore) wer iftr S qeg 0 93T 21 B, A 3R
C o Heg | dS ek o faqdid SIaT 21 A 31T
P o st &I Sk oS &l B, D % 3ieh o™it 31X
8| E, ST S sl 3T 3@ 8, R ¥ s W
FATEWS LSS €| A =l T8 SFRI0T 1
21 P 371 T U 6L o 91 &
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- 10 people A,B,C,D,E,P,Q, R, S, and T sit

on two linear benches such that five people
face south and other five face north and they
face each other too but not necessarily in same

order given above.

D sits in the middle of one of the row. B sits
opposite to the one who sits in the middle of A
and C. Two people sit between A and P. B is
to the immediate left of D. E, who faces S, sits
at farthest possible distance on the bench from
R. A faces south. P and T face each other.
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Three generations of people live together.
There are 12 members in the family viz. M,
N,O,P,Q,R,S, T, U, V, W and X who
went out for a picnic. R and Q are kids of T
and S. V, who is the father in law of W, is
the paternal uncle of R. T has a son and a
daughter. P is the husband of O. O is the
daughter of Q. M is the brother of N. R is
married to U. Father of N is U who has only
one daughter. S is the father in law of U. W
is the wife of X.

Four of the five are alike in a certain way
and hence form a group. Which one the
following doesn’t belong to the group?

Q P O M \
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